Quiz 12 -

Decline: the relative pronoun in all cases, numbers, and genders in the box below. (30 pts)
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Please write out the 1%t and 2" Rules of Relative Pronouns: (5 pts) — (i.e.: whence does a
Rel.Pron. take its C, #, G?)
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Vocab: Identify the possible form(s) and provide the rest of the dictionary entry (14 pts)

u\u?w) N\CA ?,e::sa
}@»LQ_Q‘ v

neep
b begin
levés — Njbm. /a,(,(‘ Fana /Wff %,Q,,mﬁ | Y LUJ\S leare ('L—T) {f «’Q‘JHE

incipiam - | 3%5 Cot. act wdic

? vl w? C&UM

-k M)M_,

E%. El;.
E Iy

cupivérunt — ’%(‘:9 ?,Z %ﬁf-’g act. wlic. C,U?‘yg , opere



Translate the following sentence accurately and Fully Identify the bolded words below (18 pts.):

Poténs est vis artium, quae nos semper alugrunt.
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